
  
 

 

      Hidrógeno        +       Cloro                Cloruro de hidrógeno 

                  1 vol                       1 vol                               2 vol 
 

 

H (g)     +     Cl (g)          HCl  (g)  

 

 

 

             Hidrógeno      +       Oxígeno                           Agua 

                  2 vol                       1 vol                               2 vol 
 

 

H (g)      +     O (g)            HO  (g)  

 

 

 

             Nitrógeno      +       Hidrógeno                    Amoníaco 

                  1 vol                       3 vol                               2 vol 
 

 
 

N (g)      +     H (g)             NH  (g)  

 

 

 


